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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
o frgpyRd Aot SeEml e fir -
(a) Wi‘zich of the following statements is
true?
Seq (FICol Sf e g 2

(i) If price elasticity =1, MR=0
3t 73 &g = 1, MR=0

(ii) If price elasticity > 1, MR< 0
3 79 fefegeee > 1, MR <0

(ifi) If price elasticity < 1, MR > 0O
i 79 WW <1, MR>0
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(b)

(c)

(d)

(e)

A7/945

(2)

State the Euler’s theorem.

BEART GO SEd F4I |

total cost

Given the following

function (C) of a firm :
Cc=0°%-502 +200Q+50

Show that marginal cost function (MC)

does not depend on fixed cost.

94 SR o I For (C) O © il 4999 :

C=0Q% -50? +20Q+50

e @ e T8 T (MC) &1 R eo[e
IEEakETcl

Producer’s Surplus = Price (P) X
Actual Quantity Sold (Q) - .
( Fill in the blank )

STTeN I = ¥4 (P) *
e A& “fR{TT (Q) - —
( =1feT 312 =9 41 )

Given the market model

Qd = Qs

Qg =24 -2P

QS = -5+ 7P
where Q,, Q. and P denote quantity
demanded, quantity supplied and_ price
respectively. Find P and Q by
elimination of variables.

( Continued )|

()

(h)

A7/945

(3)

IHq SRl ' 2'e
Qd =Qs
Qg =24 -2P
Q, =-5+7P

TS Qy, Qs UF P W wIRwE Rk,
QR SR SF 79 | 5eRI @el IR P SIE
O foefy T |

If the marginal revenue function is
given by

MR =50-4Q
where Q is quantity, find the average
revenue at Q =10.

It onfes R&F-=m Fom
MR =50 -4Q

Te 0@ REN R Botr 7@, 7
R&-umm e @ 0 =102 |

State the conditions of point of inflection
of a function.

9b1 Foe 29 Req9 06Tz Srge 41 |

The slope of demand curve multiplied by
P [/ Q gives the measures the elasticity of
demand.

( Write True or False )
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@

)

(4)

SRW @4 BEe P/QE @9 ®fR oI
R PR (&Y ¢ I |
(wm & Sua forn )

What is prisoner’s dilemma?

Prisoner’s dilemma {2

Given the
consume
C@)I2048 +0-1Y Y/ 2

and the information that C=Y, when .
Y =100. Find the consumption function '

o). |
i 24 e Secsel ga9el

)= ot
HF C=Y @feq v =100 24 | TACSH] 2Tl
Fo C(Y) Sferea |

marginal propensity to

2x5=10

2. Answer the following questions :
oTS ] ePTRR Teq for '
(a) The average revenue function is given

A7/945

by AR=100-3q. Find the price
elasticity of demand when g =5.

e REem wemor o <®
AR=100-3q. g=5 %@, W of2
Rfemee A Fa1 1 :
\

( Continued )

(b)

(c)

(d)

(e)

A7/945

(S)

Given the following demand function :
Q =500-5P
Find out (i) quantity demanded at price
¥ 15 and (i) price to sell 200 units.
e GIfRnl e il 20
Q =500-5P
(i) €15 7I© SIRWEA <K =F (i) 200 516
RGI 79 facy <1 1

Write any two significances of linear
programming problem.

ART FRGT g & e 701 SIRer o7 |
If the equilibrium price is P = “*;, find

the effect of increased values of a and b

on equilibrium price.

‘Iﬁ O[N] Y9 P= LArs
b+d

@[S a WF b-3 I =T eer A7 341 |

=, SN A

Total cost is given by

TC =602 —20+50
Find the output at which MC is
minimuiIn.
¥ W TC =602 —20+50. Tewea AR
ey 391 T'S MC fAwoy =3 |
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(6) (7))
3. Answer any four of the following questions : Tl Fere frar %'e
5x4=20 e
Q=7K 'L

oS frq) 2RpTyRd i el sifeoE T fors -

(a) Derive the relationship between MC and
AC using the product rule of

TS Q, K WIF L-9 BT, Teite SF =95
FE Mot IR 2 WA By o[
FE T, [0 401

differentiation.
] 2{TFed o 9792 R MC o€ AC (e} If consumer’s demand function is given
e o aAfSwr 941 | by Q=+460-2P, find consumer’s

() In a perfectly competitive market, the
total revenue and total cost of a firm are
given by TR =4Q and TC = Q® —6Q +10.

surplus when market price P=12.
ARFI O Foeol R4 G2 Q = /60 2P
IHE @ P =12 274 A1299 A Fefy 741 |

Obtain profit maximizing output (Q). | () State the conditions of an
Afefecaiemee IaH G4, 93 AP 2 | unconstrained maxima and minima
wm e g I TA TR=4Q WE with single explanatory variable.
TC = Q2 —6Q +10. ARHFFR A =TS | TR 5 Wfoaee SMyrm 7237 sl
| w1 R
e (Q) fAdme 41 1 | T TETR SCHY 4 |
- : !
(c) Distinguish between feasible sol;1tmn |24 SAnswer the rilBae A PR
i i i inear
and optimal solution in a S PR

programming problem. |

GART Iy da@R ST SHYE TE ¥

(@) Given the short-run total cost function

ST AER 40o% (Sl | | TC=2Q° -1502 +300+16
(d) Given the production function | () Find out the level of output at
0=7K4L5 | which AVC is minimum and also
| show that MC = AVC at that level of

where Q, K and L denote output, capital
and labour respectively. Verify whether
the Euler’s theorem is satisfied or not.

output.
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(8) | (9)

(ii) Show that, when Q =4, the average | (b) There are two firms in an industry, F
cost is minimum and MC = AC. ‘ and F,, facing the demand and cost

functions given as follows :
ZFFIAA 5 79 For e xR Demand function: Q =50-0-5P
TC = 2Q° -15Q° +30Q0+16

Cost functions : C; =100+20Q; + 012

(i) BeAmeR cAfRwe a4, C:;%:ﬂ‘g C, =48 +36Q, +2032
THew W wWE @Ysa A

Find the profit maximization output for
HgFe MC = AVC 2 |

firms F; and F; and maximum joint
g profit.

i) (e @, @S Q =4, % I

”mimc;Ac’al 451 ST W3 AfBE Fy WR F,-3 bW

HF P Fole] ofo AT 4397 -

O Qe ST FH : 0 =50-0-5P
(i) Prove that (&9 341 &) | WEFH ;G =100+200; + 02
1 |
MR = AR[I —‘—e]) d C, =48+360Q, +203
| ARSI 74 F, SE Fp -9 % req AR
(i) Given a consumption function | S 0 Yo &S L ¥4 |
5000
C=1000—3+Y | Or / 9811
Find marginal propensity to The demand functions of a monopoly in
consume (MPC) when Y =97. § two different markets are given by
Tefcsien Tl i (R | A =53-40Q
5000 | B 729530,
G000 = 3+Y 3 and the total cost function is
Y =97 2@ Afee Sess edael fAde C=20+50, where B and P, arc the
B | prices and Q, and Q, are the outputs in

|
A7/945 ( Continued, A7/945 ( Turn Over )
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(10 )

market 1 and market 2 such that
Q=0Q, +Q5.
(i) Find profit maximizing output to be
sold in first and second markets.
(ii) Find the equilibrium prices of first
and second markets.
(iii) Find maximum profit.
Y3 GFCHioAT JHRS IR F fE (R
B =53-4Q;
P, =29-30,
F W Foq C=20+5Q, IS B W< P,
AT o @Ry IHET T, O |WE Q, AW
uE Gl IWRE TeAmE R TR

Q=0 +0Q;,.
(i) FCARE ISR A =S AR AN SRATAI
“{fqae Tferea |

(fi) YEATH IERS SR 79 AT 4w
(iti) STee6 1S AT 1 |

() Explain the special features of linear
Programming. Solve the following LPP :

ARE Pl Rem QFEPTR I 391 | TS
0 LPP &1 sy 4
Minimize C=x +4X,
Subject to
X +2x5 28
3x; +2x5 212
X, X9 20

|
A7/945 ( Continued ) | A7/945

(11

Or / 2471

Given the following pay-off matrix of
player A and total market share of profit
is"10%:

2 8]
4 3 9
SN 6 7
(i) Find the nature of the game.
(i) Find maximin and minimax
payoffs.

(iiY) Find the saddle point of the game.

(iv) Find the optimal strategies for the
two players.

(v) Is it possible to find pay-off matrix
for player B?
Player A-3 pay-off matrix (% P IGH
=rer & 10 frar 279 -
2 8 1
4 3 9
SERGRT
() Game-3 23S Ay w7 |
(i) Maximin ¥ minimax payoff GGE
91|
(iii) Game-9 saddle ﬁﬂiﬁcﬁl 9] |
(iv) T@&s  player-3  3rq optimal
strategeis 1T 1 |
(v) Player B-3 I pay-off matrix W4T
P91 ASGH ?

( Turn Over )




(12 )

(d) Draw the graph (demand curve) of the
demand function D=5—§ and derive
the slope of the curve. Also find out

what is quantity demanded if the
commodity is free goods by nature.

mfimwo:s-g-am (o1l 33T SR

N WF @ROER O @fF 40 | A AEay

ggfosTosd Y& T W, ARed oI
RGN

Or / 5241
Given the following demand schedule :

Price Quantity demanded
(per unit) (units)
2 8
4 S
Derive the linear demand function. Also
verify whether the equation is demand
function or not.

7q BIEGERIEL kS
(1S ¢arp) (¢arB)
2 8
4 5
95 oifEn Few Qg F911 Torer «_rw IR
SAFIICH! BIfEHT Foie 28 1 124 (A |
% 4 A
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